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The figures in the margin indicate full marks
for the questions

wer the

e the correct option/Ans
1x8=8

1. Choos
following :
wing is not by

of the follo
tional income?

(@) Which
n equal to na

definitio

(i) N ational output

(ii) National expenditure
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! 26
(2 ) ' ( 3)

(itf) National product (e) Investment multiplier can be
obtained from (symbols have the

(iv) National wealth usual meaning)

(b) In classical theory of employment, (i 1
what ensures the perfect clearing of 1—A—1C(_
the labour market? ' 2
(i) Flexibility of interest rate (ii) IAC
(ii) Flexibility of wage rate e
(tii) Flexibility of price of the o L3
commodity ’ (i) '1_+_A_C-
(i) Classical assumption of perfect i
competition in the product .
market (iv) AC
1+ AY
(c) Define the concept of effective
e
demand. ) The speculative demaurlc;Ul forﬁr:;r;fy
: nc
ing to Keynes 1S &
(d) Marginal Propensity to consume can CAT
be always between (i) rate of interest
() O and 1 :
3 (ii) level of income
(i) 1 and 2
: vings
(iii) 10 and 20 if) level of 821338
(iv) None of the above (iv) Jevel of ouiRg:
m Over )
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(4)

(9) The GNP gap is the gap between
(i) GNP and NNP
(i) GNP and depreciation
(iii) GNP and GDP

(iv) potential and actual GNP

h
(h) Net exports are negative when
({) net investment is positive
(it) exports are exceeded by imports

(iii) exports exceeded

rivate
transfer to foreigners %

{iy} imports are exceeded by exports

2. Write.short notes on any four of th
following (within 150 words each) : i

4x4=16
(@)

Gross valye iti
addition
2 10n and net value

(b)
()

Marginal efficiency of capital

Absolute income hypothesis

P9/555
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s g

(d) Economic openness . in Indian

€conomy

(e) Capital account and current account
of Balance of Payments

Answer the following questions (within
500 words each) : '

3. (a) Define national income. Explain the
production and expenditure
methods of calculating national
income. What is the meaning of

green accounting  of national
income? 2+8+2=12
Or
. i ouish between the following :
(b) D1st1ngu1sh S

p and Real GDP

(), Nominal B
rice and NNP at

(i) NNP at market P
factor price

(iii) personal income and Disposable

onal income

pers
Blle addition a

nd Net
(iv) Gross V&=
value addition
( Turn Over )
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(6)

4. (a) Compare and contrast the

(b)

S. (a)

(b)

P9/555

approaches to determine aggregate
price level under classical and
Keynesian framework.

Or
In the backdrop of Keynesian theory,

11

explain the following : 3+3+3+2=11

(i) Aggregate demand and
aggregate supply functions

() Effects of change in aggregate
expenditure

(tit) Consumption function

(iv) Marginal propensity to save

Explain the process of income
generation through the investment
multiplier with an example. Does
multiplier work in a developing
economy? Give reasons for your

answer. 8+3=11

Or

Explain the Permanent income
hypothesis of consumption. What

are its similarities with the life cycle

hypothesis? T+4=11

( Continued )

7. (a) Define Balanc

(7)) 24

6. (a) Explain the Keynesian theory of

: i its limitations.
interest. Mention its gt

Or

(b) -What are IS-LM curves? Determine

ilibrium level of income and

the equ S-LM
interest rate BA9eT I 4+7=11
framework.

e of Payments (BOF).
f disequilibrium
Discuss the causes © 4+7=11

in Balance of payments.

Or

iy the differen:;j
Rt Wl:;ien OpERISEOR 3
Elised econoﬂ’ly? e
in the monetfﬂ'}' j;nce of
(i) ExpIe fustment in B
to
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